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4. Macroeconomic Policy Mix

Recall that the three macroeconomic markets are the goods & services market, the money market, and the labor market.  This far into the course, we have been exploring the first two (the goods market and the money market in previous chapters).

Here’s a graphical illustration of the money market.
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Very Important Note to Students:  In class I used the variable i to denote interest rate.  Both i and r can be used interchangeably to refer to interest rate.  FYI: The r refers to the real interest rate (adjusted for inflation), while the i refers to the nominal interest rate.   These notes use r consistently.  Make sure you realize that this r is the interest rate.  Again, this is not to be confused with the r in the deposit multiplier formula of chapter 25.
Let us now review again the goods & services market. [To simplify, we will hereafter refer to this as simply the goods market.]
Planned aggregate expenditure (PAE) is composed of what households spend, what firms spend, and what government spends.  In more elaborate models, the external sector is added as NX (net exports) to represent what the rest of the world spends on domestically produced goods and services.  But for simplicity we shall continue to disregard this last component for now.

Here’s the Keynesian framework graph of the goods market showing different planned aggregate expenditure functions (PAE) at different interest rates.
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***VERY IMPORTANT CLARIFICATION***
The I in all the figures of this chapter really stands for PI (planned investment).  The P was dropped for simplicity. 
What happens in either of the two markets illustrated above influences the other market.  They do not operate in vacuum.  Rather, each is an integral component of the aggregate macro-economy.  
In this chapter, we examine how the goods market and the money market interact with each other.  From that we will be able to gain an insight into how the different public policies (fiscal and monetary) work together.
II.    The Links between the Goods and Money Markets
1.        Interest Rate and Investment
The first link comes from the fact that when the interest rate falls, planned investment rises.  And when the interest rate rises, planned investment falls.

This is because the cost of borrowing money (the interest rate) is a big component of the total cost of an investment project.  

Here are the effects of an increase in the interest rate:

A high interest rate discourages planned investment PI as illustrated below:
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- Planned investment is a part of planned aggregate expenditure, PAE, in the Keynesian cross.  
- Therefore, when the interest rate rises, PAE falls at every level of income.

- This then lowers equilibrium output (Y*) by a multiple of the initial decrease in planned investment.  (What is that multiple?  It is the spending multiplier we learned about in chapters 23 and 24:  1/(1-MPC))
- In sum:


r ↑ → PI  ↓ → PAE ↓ → Y*↓ 

&

r ↓ → PI ↑ → PAE ↑ → Y* ↑ 
Therefore, we see that something that happens in the money market (interest rate changes) influences the goods market.

2.     Income and Money Demand
The second link to note is that the demand for money depends on income.
More income means more transactions, so more cash money needed (relative to interest-bearing bonds).

If Y ↑ → MD ↑  (the money demand curve shifts to the right when Y increases) . 
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Income/output (Y) is determined in the Goods Market.  It influences MD in the money market.

On the graph, we can see that this means that at the original interest rate (6), we will now have an excess demand for money (when the MD curve shifts to the right).  

But the supply of money is fixed.

This places an upward pressure on the interest rate and it increases to 9. 
In sum:

Y ↑ → MD ↑ → r ↑

&

Y ↓ → MD ↓ → r ↓ 

So here we see that something that happens in the goods market (income changes) influences the money market.

Side Note: The above illustrations are made with simplicity in mind.  That is why the numbers 6 and 9 are used to clearly get the point across. In the real world, interest rates do not jump up this high at any one point in time.  It’s more likely that an interest rate might change by a small percentage only.  A more realistic example would be an interest rate increasing from 6.25% to 6.50%.  Even though this may appear to be a small increase, when you apply it to the billions of dollars worth of transactions (loans, deposits, etc.) that take place every year in a large country, it translates to millions of dollars worth of additional interest payments.  
II.  Combining the Two Markets: Public Policy
Now we want to see what happens to the two variables of most interest, Y and r, when certain public policy elements are changed:  G, T, and MS.

1.  Expansionary Fiscal Policy:

This means an increase in government purchases (G) or a decrease in net taxes (T).

Suppose the government implements a fiscal stimulus package (like the huge $800 billion plus package approved by the Obama administration in early 2009 to combat the US recession).  How will that affect the whole economy?  How will its effects on the goods market lead to other effects in the money market? 

If G ↑ → more goods are purchased from firms  → firm inventories decline → less inventories than planned → inventories must be replenished  → more output will be produced in next period to accomplish that.
Note: In the case of firms selling services (such as engineering firms contracting with the government to construct infrastructure, for example), this also means more output will be produced in next period to accommodate the higher G.
As aggregate output/income (Y) begins to rise in response to that, the demand for money will start to increase.

With the quantity of money supplied fixed, this will cause the interest rate to rise.

► Increase in G has caused both Y and r to rise.

But…what happens when r rises?

This will work to discourage investment.

Economists call this the crowding-out effect.  [The term comes from the fact that private investment is “crowded out” by the actions of the government.]
Crowding-Out: This is defined as the tendency for increased government spending to cause reductions in private investment spending thru the interest rate channel.

On the Keynesian cross, we see that PAE first shifts up, then shifts down (but normally by a smaller degree than the initial upward shift.  

Important Side Note:  
Why might the PAE line shift down by a smaller degree?  Note that the effect of increased government spending on PAE is direct, whereas the effect of the interest rate is indirect.  Changes in the interest rate affect planned investment before they affect PAE.  If investment is sensitive to the interest rate, then changes in the interest rate will have a substantial effect on PI and, hence, on PAE.  Alternatively, if investment is not very sensitive to the interest rate, then changes in the interest rate will not have a substantial effect on PI.  We can therefore say that the crowding-out effect is larger the higher the sensitivity of investment plans to interest rate variations.  In general, it has been proven empirically that the subsequent downward shift of the PAE line due to the reduced PI is smaller than the initial upward shift in the PAE line due to the higher G.  This is often referred to as “partial” crowding out.
End result is that equilibrium Y increases, but by a smaller degree than what would have occurred if it were not for the “crowding-out” effect.
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In sum:

G ↑ → PAE ↑ → Y ↑ → MD ↑ → r ↑ → PI ↓ →Y↓→→ 
Y increases less than if r did not increase  

(This is an example of how the two markets interact.)

The crowding-out effect is one of the most hotly debated ideas in macroeconomic research and policymaking.  Politicians in the U.S. who follow the neoclassical economic philosophy (mostly in the Republican party) use it as a tool against others with Keynesian economic inclinations (mostly in the Democratic party).  Essentially, neoclassical economists argue that increases in government spending backfire by “crowding-out” the private sector, and that this effect is usually complete (i.e. the level of output eventually returns to where it was as if nothing happened).  
They argue that even when crowding out is partial (like in the case presented above), this is still not good for the economy.  Such analysis is motivated by the assumption that the private sector is by nature more efficient than the public sector.  Neoclassical economists generally consider much of public sector spending to be wasteful and/or misguided.  It must therefore be minimized.   

[Recall that neoclassical ideology is firmly grounded in the notion that government intervention is inefficient, ineffective, and often corrupt.] 
2.   Expansionary Monetary Policy

If the central bank decides to increase the money supply (for the purpose of influencing the economy), what happens?

Side Question:  How does the central bank increase the money supply?  Answer: By using one of the three tools of monetary policy: buy bonds, decrease the required reserve ratio, or decrease the discount rate.  Buying bonds (open market operations) is the one most frequently used.
With greater MS but same MD, there is now an excess supply of money, so the interest rate must decline to restore equilibrium.  [See graph on following page.]
How does that reflect itself on the goods market?

When r ↓, planned investment spending increases.

Increased planned investment spending means PAE goes up, which means equilibrium output goes up.
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► Higher MS causes both a reduction in r (from 6 to 3) and an increase in Y (from Yo to Y1).  In the second panel above, this is illustrated by the shift in equilibrium Y from Y0 to Y1.
Now, back to the money market, where the additional Y causes the demand for money to increase.  The higher money demand curve means that at an interest rate of 3 there would be excess demand for money in this market.  The only way to clear this excess demand is for the interest rate to increase.
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Therefore, the interest rate starts to move back up.  The increase in r is smaller in magnitude than the initial decrease. [In the panel above, this is represented by an initial decline from 6 to 3 followed by the subsequent increase from 3 to 5.  Again, remember, these are just hypothetical figures.  In the real world, movements in interest rates tend to be much smaller.]
In sum:

MS ↑ → r ↓ → PI ↑ → PAE ↑ → Y ↑ → MD ↑ →r↑→→
r decreases less than if MD did not increase in response to the increase in Y.

(Another example of how the two markets interact.)

This means that the PAE line drops down again but by a smaller degree than the initial rise.  In the goods market graph, we see that the equilibrium Y drops from the interim higher level of Y1 to Y*.

Note: Another common term for expansionary monetary policy is easy money.
3.  Contractionary Fiscal and Monetary Policies
Here we get the exact opposite sequence of events than in 1 and 2 above.

For a contractionary fiscal policy we have the following sequence of events.  The lower G initially reduces planned aggregate expenditure (PAE), which reduces Y, but in the money market the lower Y reduces MD, which then reduces equilibrium interest rate (r) which stimulates PI causing it to increase a bit, and that in turns pulls Y back up to a level Y* that is below the initial level Y0 but higher than Y1. 

Students: Draw the graphs that go along with the above story as an exercise!

Concisely, we can state that as

G ↓ → PAE ↓ → Y* ↓ → MD ↓ → r ↓ → PI ↑ → Y* ↑→→ 
Y decreases less than if r did not decrease  

Similarly, for a contractionary monetary policy we have,
MS ↓ → r ↑ → PI ↓ → PAE ↓ → Y ↓ → MD ↓  (which leads to an excess money supply)→ r ↓→→ 
r increases less than if MD did not decrease in response to the decrease in Y.

Students: Draw the graphs that go along with contractionary monetary policy as an exercise!

Note: Another common term for contractionary monetary policy is tight money.
4.   Macroeconomic Policy Mix
This refers to the combination of policies in use at a given time.

The Case of Monetary Policy Accommodating Fiscal Policy:  

One policy mix of particular interest is when monetary policy “accommodates” an expansionary fiscal policy by increasing the money supply.  The expansionary fiscal policy leads to higher interest rates and, subsequently, “crowding out” (see above), but then the expansionary monetary policy brings interest rate back down.  The problem with such a policy, of course, is that it may lead to an inflationary spiral.  [More on that in the next chapter when we consider how expansionary fiscal and monetary policies affect the aggregate demand curve.].
A graph can be used to illustrate the case of a central bank accommodating an expansionary fiscal policy.  The expansionary fiscal policy (e.g. higher G) leads to a higher Y* (in the goods market), which causes the money demand curve to shift right and the equilibrium interest rate to increase to r1 (in the money market).  The central bank (which may have a specific interest rate target that it wishes to maintain) may then step in to offset this effect by increasing the money supply.  Interest rates drop back to ro.
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One may wonder what the best policy mix is.  In other words, what are the best combinations of fiscal and monetary policies that a government may employ in order to promote both growth and stability?
This is a normative question, whose answer depends on the priorities and inclinations of the policy makers (whether they favor greater government intervention or greater private sector spending).
For example, a policy mix that consists of both lower G AND higher MS obviously favors investment spending over government spending.

(Recall that higher MS → lower r → investment is encouraged.)
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